Exercise 8 
Q1.
X: Number of patients admitted per week 


X ~ poisson(7) ; 
where
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(a) X: The Number of patients admitted on a particular day

	x
	
[image: image5.wmf]()

PXx

==



 EMBED Equation.DSMT4  [image: image6.wmf]1

!

e

x

-



	0
	0.3679

	1
	0.3679

	2
	0.1839

	3
	0.0613

	…..
	…..

	Total
	1.0000





[image: image7.wmf]0

11

71

77

ll

==´=

 
  
[image: image8.wmf]Þ


X ~ poisson(1)


     
The 
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of X would be
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(i)  No patients admitted:
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(ii)  At least 2 patients admitted:
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 (b) (i)  
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Hospital is expected to admit 14 patients in 2 weeks.

     (ii)  
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Hospital is expected to admit 28 patients in one month.
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Q2.
X: Number of deaths per year from a cancer 



X ~ poisson(3) ; 
where
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 of X would be


[image: image28.wmf]3

3

()

!

x

e

PXx

x

-

==

 ,       for  
[image: image29.wmf]0,1,2,....

x

=


    (a)  Not more than 2 deaths in a year 
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     = 0.0498 + 0.1494 + 0.2240 = 0.4232
(b)  At least 2 deaths in a year
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    (c)  exactly 3 deaths in a year
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    (d)  exactly 4 deaths in 4 months 

       
X: Number of deaths in 4 months from cancer




[image: image37.wmf]0

44

31

1212

ll

==´=

 

X ~ poisson(1)



The 
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of X would be
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Exactly 4 Deaths
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Q3.
X: Number of cases of breast cancer diagnosed in each year 



X ~ poisson(6) ; 

where

[image: image42.wmf]l

=6 

   

The 
[image: image43.wmf]pmf

of X would be
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(a)  No new cases in a year
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(b)  Two new cases in 6 months
 

       X: Number of new cases of cancer in 6 months
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X ~ poisson(3)
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Q8.
X: Number of pus cells in the urine of  healthy person per one cm3 



X ~ poisson(2) ; 

where

[image: image52.wmf]l

=2 

   

The 
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of X would be
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(a)  No pus cells in one cm3 
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(b)  Two pus cells in ½ cm3
       X: Number of  pus cells in ½ cm3 of urine
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X ~ poisson(1)
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Q4.
Let  Z ~ N(0,1)  ;       and 
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Q5.
Let  Z ~ N(0,1)  ;       and 
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Q6.
Let  Z ~ N(0,1)  ;       and 
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Q7.
Let  Z ~ N(0,1)  ;       and 
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